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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. Answer of each question should be 
given in 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 30 eãXm| ‘| Xr{OE& 
àË¶oH$ àíZ 2 A§H$m| H$m h¡&
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1)	 Give answer of the following: 

	 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE&

	 (i)	 Mixed Economic System. 

		  {‘{lV Am{W©H$ ì¶dñWm

	 (ii)	 Public Goods.

		  gmd©O{ZH$ dñVw

	 (iii)	 Distinguish between progressive and proportional 

taxation.

		  àJ{Verb Am¡a AZwnm{VH$ H$am| ‘| AÝVa ~VmBE&

	 (iv)	 Give the Meaning of Public Debt.

		  gmd©O{ZH$ F$U H$m AW© ~VmB¶o&

	 (v)	 Compensatory fiscal policy.

		  j{V-nyaH$ amOH$mofr¶ Zr{V&

	 (vi)	 Give two merits of Income Tax.

		  Am¶ H$a Ho$ H$moB© Xmo bm^ ~VmBE&

	 (vii)	Unbalanced budget.

		  Ag§Vw{bV ~OQ>

	 (viii)	Differentiate between tax and fees.

		  H$a Ed§ ewëH$ ‘| ^oX H$s{OE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Answer of each question 
should be given in 200 words. Each question carries 8 
marks.



MAEC-03 / 600 / 4 	 (3)	 (P.T.O.)

332

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 200 eãXm| 
‘| Xr{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What are externalities? Explain negative and positive 
externalities.

	 ~m÷VmE± ³¶m h¡? gH$mamË‘H$ VWm ZH$mamË‘H$ ~møVmAm| H$m dU©Z H$a|&

3)	 Describe public enterprises. Give its objectives.
	 gmd©O{ZH$ CÚ‘m| H$m dU©Z H$a|& CgHo$ CÔoí¶ ~VmBE&

4)	 What is fiscal policy. What are its objectives?
	 amOH$mofr¶ Zr{V ³¶m h¡? BgHo$ ‘w»¶ CÔoí¶ ~VmB¶o&

5)	 Assess the relative advantages and disadvantages of direct 
and indirect taxation.

	 àË¶j Am¡a AàË¶j H$am| Ho$ gmnoj bm^ d hm{Z¶m± ~Vm¶|&

6)	 Briefly explain the sailent features of Indian Tax System.
	 ^maVr¶ H$a àUmbr Ho$ à‘wI bjUm| H$m g§jon ‘| dU©Z H$a|&

7)	 Analyse the role of Public Expenditure in under developed 
countries.

	 Aën-{dH${gV Xoem| ‘| gmd©O{ZH$ ì¶¶ H$s ^y{‘H$m H$m {díbofU H$a|&

8)	 What is corporation tax. Give arguments in favour and against 
of corporation tax.

	 {ZJ‘ H$a ³¶m h¡& {ZJ‘-H$a Ho$ nj Ed§ {dnj ‘| VH©$ Xr{OE&

9)	 Explain the main characteristics of Indian Public Debt.
	 ^maVr¶ gmd©O{ZH$ F$U H$s ‘w»¶ {deofVmE± ~VbmBE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. Answer of each question 
should be given in 500 words. Each question carries 16 
marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 500 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 What are public goods? Explain the main theories of public 
goods.

	 gmd©O{ZH$ dñVwE§ ³¶m h¢? gmd©O{ZH$ dñVwAm| Ho$ ‘w»¶ {gÕmÝVm| H$m 
dU©Z H$a|&

11)	 What is shifting in Taxation? Explain the different theories of 
Tax-shifting.

	 H$a-{ddV©Z ³¶m h¡? H$a-{ddV©Z Ho$ {d{dY {gÕm§Vm| H$s ì¶m»¶m H$s{OE&

12)	 What do you meant by Public expenditure. Give main canons 
of Public expenditure.

	 gmd©O{ZH$ ì¶¶ H$m A{^àm¶ ñnîQ> H$s{O¶o& gmd©O{ZH$ ì¶¶ Ho$ à‘wI 
{gÕmÝVm| H$s {ddoMZm H$s{OE&

13)	 What do you know about the public debt? What are the 
various methods of securing public debt? How is public debt 
redeemed?

	 gmd©O{ZH$ F$U Ho$ gå~ÝY ‘| Amn ³¶m OmZVo h¢? gmd©O{ZH$ F$U àmßV 
H$aZo Ho$ {d{^ÝZ T>§J H$m¡Z go h¢? gmd©O{ZH$ F$U go Nw>Q>H$mam H¡$go nm¶m 
Om gH$Vm h¡?


